
The Sojourn family went on a vacation. They started with 

$2000. If they spent $150 each day, write  which expression 

represents how much money they had after x days. 

 

 

A Ferris wheel at the local fair has a diameter of 52 metres. 

Write the expression which can be used to find its 

circumference (C) in meters? 

 

 

 

 

 

 

 

Which figure is an acute triangle? 

A.                                                                                        B.  

 

 

 

 

 

C.                                                                                       D. 

 


